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NOTE: There are three sections of this paper. Carefully read the instructions for each section and altempt

1,

9,

10.
11, o
, D) Median . ...t L T e ICI

12,

13

14,

15,

accordingly, Allempt all questions of Section-A and return it to the Superintendent within: given time,
even il you have nol atlempled any question.. Select the correcl choice and wrile only A, B, C or D, .
whichever is. appropriate; in the answer box. No marks will be awarded for culling/erasing or overwrmng.

SECTION-A'

'Time-"zoMinutes ) e e :.-Marké: 15

AT square malrix and Al=— A, ihen which type of th|s matrix |s? A) skew symmelnc malnx

B) symmelric matrix, C) scalar malrix, D) none of lhese

Y64 =i A)64, B)32, C) 16, D)4 ... .......... ....... o [Q__l
Which one is the sbienlific‘notalion of 0.26x10°2?  A) 2.5x10°1, B) 2.5x10°2, C)"z.smol»s, D) 2.5x10 4.....
Which islihe charaleristc of |ogo.00032513 A) -2, B} -3, C) -4, D}2...... ..... s ——
Which cne is equal 1o (a+b)2-l:(il-'—b)2? A) daPH4b?, B) 252+éb2’. C).4ab, D) BB e
Which one is the HCF of x?~y? an.d x?nxy?r A) x{(x- y) B)x-y, C) xLy2 D) x(x2~y2)‘... ....................... |
Which one is ‘lh'e soluu'on set of [x+4 .;:ﬂ-'_e? A) ) B) {-6). ©){10), ©) 'none 0f 858 .. v D]
Whichonei'séblution‘seloflx+4|:6? A {4.6), B) (-4.61, c) (4,-6),7D) {2, 10}@

In which quadrant lies the point (2,3)?  A) Quadrant-l, B) Qadrant-l, C) Quadrant-lll, D) Quadrant-IV l_,qll

The line y=a where ais a real number is para!lel to: A) x-axis, B} y-axis, C)z-axis,

D) neither x-axis nor y AXIS ot eree ittt e et e e e e b s . I A 1

Whlch one has greater Ienglh in right anglud lnangle? A) perpendmular B) base, )hypolenuse :

Whlch one is the sum of measures of intgrior angles of a quadrllateral'? A) 1800 ) 360" C) 2700,
D) none of these : _ ,

Which one is LCM of x*-8 and )'(2'!*_)(~6? A) x*-8, B) x2+x-6, C) ()_(_+ 3)'(')'4;2), D) (x+3)(x3-8)......... D.

The medians AD and BE ol AABC in ersecl each otherat G. i mGD {1.7c¢m then what will be
the value of MAG? A) 27cm, B).0.85cm, C) 3dem, D) 5ACT v e s E]

Which diagonal does not divide-into two congruen( lnangles? AY rectangle B} square

C) parallelogram, D) rAPEZIUM ....v.ccoscm vt s o e [D"J
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SECTION-B

Marks: 36

1. Attempt any nine of the following. All carry equal marks,

.

Vi,

Vil.

vii,

Xi.

Xii.

it A :[“23 ?J and B = [;_11. 3'J then find the value of A-! and B !
Find the product of: 2+-3i and 4 -5

Sin{plify by logarithm: (238.2)(9.506)

Find the value of a®- bi‘.when a-b=2and ab¥'15

i R
I x={10 1 3 then find the value of x..;. and x* +;12-

Faclorize a1 b2+ 2ab-¢?- d? - 2¢d

Find HCF by factorization 16m’ -14myu 3 and 6m?+ 5m—d
Find LCM by factorization x?- 3x 12 and” x2-5x46

oty Y X2

Simplify xiy Ky

For what value of x the expression 4x*— 12x4 17x2— 13%+6 will become a
perfect square?

Find lhé solulion set of [5x- 13[+2=14

Solve the equalion by graphical melhpd X+y=2 and x-y=4

SECTION-C

Marks: 24

~ NOTE: Allémpl any lhre’e'of.lhé}gib\hiné; queslions, A_II quéétions dafq'y equa_l marks.

2. Find the centroid of the triangle ABC when A{1,2), B(3,1) and C{2,0)

3. Prove thal in parallelogran the opposite sides and angles are congruent and the -
diagonals bisecl each cther. :

4. Prove lhal any poinl equidislant from the end points of a fine segment is on the
right bisector of il. _ : _ _

5 Conslrucl APQR and draw their peipendicular biseclors, when MPR = =5.8cm,
mQR =6.5cm and mPQ -7.0cm.



